D - 24/6 /2000
MA Boo ! SEM-TT (PART 2) — LECTURE § -

,gg an S L e <1C\,((\C“é'(‘af\
. > TR @»Q)m (%) . wheve
15 Qﬁcdj-g\“g and SCGQ ﬂ >) i §

—'Fov Supposafm S qnﬁ?«m and {"_

's anal ytie | ~
| qtﬂj'Q GRS Gy g b Zexos A Q,

—

5 Xy Then

390 for o T
_F/(%) e <%~q2} : iR e 8 0G,
R 903 haay 4

L3 C AT -
:>M’2: Ta) - (2 q”)

e k-

[ / gce
) =z2_q +—Z~ P il ! + 92 /
’ e B ATy,
_ L 5 YA
@»4'5"% Let G b
o S Awegion and jey
U ebion on B BRE 2 cime £ be an ana ytie
60 mu"{?iPLAQ,‘«& ) I’P "3 Py qf“() (RPQOK'&CC} QCCO’S\O(’/’(\
b | o e ¢ foged TR
G whick does NOb— pass Lk AR
YO, dhen g i”(%) TTUh any point a andl P
aarl ) fogy A% = jﬂ“(”];%) . |
gk
'PTOOP

=10 § , them @ s anald
» by Cauobngl 4o () ks i
J %hm'CQDaVQVSMA)

g C’%" 6'mcg \{rvo
S <0

)
s fﬁmm‘@
ana\ the defn, of bhe og?r\d),'r\ﬁ Nl henc
» AY




@4

Let % G and Y be as in g Pfcccd?r\a thm,

{XCQP% ‘H’\@\'& By 'y Ay Qve ?O;r\‘ﬁs [y G 5&‘6‘7'”5’@3 ;f\.q 'R%):O(
Thery | g f'ca) dg ) | |
297

Y’(i(%)~°< = g NCY C(KB.
E\P__qu s ®Lc6 ¥ ks

Cone L "6]

the C;YC/Q [Z|= 0 CQI(L{(OCWQ_/
g' (22+1) do
y %1*%+‘ » Now  ~pphe e T c)u\om?r\cuéev ane_
wi a4
Y 4 R g e 2 (
N enelg .
0es roi Pass ‘U\'mu;jA %) ana i
T s \ + — X Hemee 5\«1
: 234
v ag; d= 9\(2'ITI\:<HT;

'H‘{:ﬁ’\C lkﬂ G : T‘WCQ Fo’y o

PYoh (o)
Sae ”P({Y}\) ‘H’We(\
Do ) e dw
2 P s
- ‘\",, f 76’(%\04%
2.9
v qC(oc%oQ
™
Z ﬁ(Y;QK)
k= ’
wheve q




R) and (et 03':<F
at 2 = o, then theve
'C=21<8 | the equation
C YO0ts in Blaje).

ke O The ab ove +henyeon
Since if €& Brel;5) ., -
DCase) »(at (eas & |

Thm&»%?SqP’POS& "‘: i analytc in Rca;
I feor- 4 hoas a Zewo of oxdey m
s an evp and § vo 8% - oy

WCC%W,:Z ng exac-lslj ) simP/

Rema~s Says 'FC@(Q_E(%QD G(O(;’S)’_
en F some Lol XS owc/\‘i (NS ide
M= ). Hence 5 @4(6(0(52)).
Ttasen) Bl s g),

@V The cond i’

or) ‘FC%)- A ”\0\5 QA ZeYo OJF ‘P7r\i£c OoUl 4 plye!
JHarantees 4

”Dhc;‘&j
Lt jC (s No & constant . ——

~

Solutiong Lo

o< Z-al <¢og
(IUSH'Fs”(qum og the Unde|

Ped PATl ¢ [Casci], wat

Let F) = £y - o T 3 - F(q—):(z—a)gc%) w hexe QX #4p .

2 Ft2) = (2 —aiq a ) T9G) & Fleays pha)

Hence 70y 2 Q) g
Contimue

25 FD =g has no

y and £t2) 4 ¢ £ O< | Z~al<g
N

Sice £ s omcuxj{sf() '—F/(g
S SoFern o f’(%)cﬁo fov 2 Btase) .

C [
Qe 2 ™m>o Then

(3 =(z-a)"qcq)
=) F/(C-EH:-]C/(Q):O,_ /

l\fooo ! F s

A )CA%O, then ‘JC 'S a hor\~comsfqm£ ANa ly 4

Chee T4g Ze~vo ; o E
» ,50,%64 %s cmrcp ié)@/aﬁcaQ In pqr4yF<c&!qu a (s

END o = F g 70 - , o1
%C_@(Q)?_) i) 4o
?

e £ =0 then £ s constan 4

—><— (8te @)




® .
27T+ {o}/ ,
Let- Y(4£) = a+2 ¢

y O <4< and P b ;“:
1 U % () go
T(’\em Q(éf},{(’) Sihee a (s in the 1nbex oy '€ 3

O<:”F(Q3¢ai€%" Then 3 8vo » 6(027§>Q{€}:C})

( 1<} being ¢ closed 2 g, C~Jv} &
an e, Bed Com%q?m?rwj o() '

Then 6(4;5) (s contained
B b |-

(€35 4= N, T)

ompa( & =

N Some comfomer\eo
<5 «'mP(v'%
( See a 4hm.
- j Ny, %k(Z)>)

b=y

(,_w

e CtUve 2;

TR Blase¢)
NO(/Q & 15 &) %C"(O O')Q @YCQW N O’P ,_.pc%’) ._O(
=} 5 (673 )= oy |
=)
:5 Ny, 2(T)) = ry
=
P)C% Sthee vy |4 ACycle Ny 2x) Pust be € hery
O o . :
= T axe Exactly o, Solutions 4, ey C fnsice
@(0\7 %’_), ' |
PL/{T'H'\QIYFY\O'\(P) {C%)%O . S >< /%\C’\/<Z l'mp(ﬂﬁé'&/ﬁq}@—
Cach of the se Yoots (for = ) l%ug{\gcs;m_o(e\
CEK@(Q(Sﬁ)' ( &f\
E@ETE&EE??EEEEIE@'E%
L 6 be o vegion and sup,

TGN #0d supewsctua 18 evan-cong bank—
amqu{#( 'F\Jﬁtb»fom an G Then "fgyr qu C)Pef\ Set U in G; &
+ vy s open .




&
Ploff TF Ucag s open, then £V is open It we can show
that for each ainyy thexe s a $~o o b(q‘)g}cf&u)
Wher & = £eay. |

This 'Fo\!!@wg, Fyora Hhe va?ous ‘H’W@O"FE(‘Q (Ckc-bugc&‘(j Lrone

Temmaxik | that is o onsequen ce. of +the P'thfot{s%hw’mm\
SiNCe e L\qvc an 7o & 870 B EBCOKS e) c Uand

f¢ B@se)) 5 B 2 8.
Dedn,

U in X7 F(U) e open 10O o B
RCMQYK @I{l = e o O0e-one and onrko e then the Invevse
Mep ~F“‘?J1«é)<' e x

5ts and fe defined éj Y=o , wWheye
ey = o .

9 Henee £

T dmpiiez f 7l e
Aov U <X, @C“’)"'(u\:qccu) ,

COT’S'&S“PPO%, ’F" G~ T
Then ’Fpl:&% C 15 a

= foa)

iouows: T Lack—

's FNe-one, analytic and €G)=r
gL cand (s !

3 U\)F\UY\Q/

fieay
Proo f - By the open ) ’ theo £ \
i 4 P S RO, 1S Lntinuous @rd|
2 s open

© Dince %t’FQ(rF_(l%}) foreach %C\_D_j +h

WCO‘low_q ~om o the e
8(‘VCF‘\ EQ‘OD\J:

o £ = 1T § &
™ Pfovgc)\ ean (e (p~ye-mid em )

=
* lee G and - be opensubsets of C-Duppose £ - ¢ and I 6SQ
A¥E ontinub s r@mglm‘ot\s YR f(j(GOC_D.-Q'\A eIz o afl

2 in G, IF% s difRexentiabic and ﬂf( D Fg £l differventiable_—
and Llegy T |

gefeny)

I& g s analyti’c, So is £ .




